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=3,14x10"-5 Tesla

The field points into the page.

Also, if you don't wanna use biot savart you could basically just use the formula of a loop of
charge, take half of that and be done. In other words you could have done this in 2 lines.
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We can now simply use superposition of the fields (which don't change in strength with distance
away from the sheet) coming from the two sheets. On the top and the bottom of the top and the
bottom sheet respectively, the fields coming from the two sheets will be equal, but opposite in
direction as can be easily seen from the above sketch indicating the direction of the B field. In the
middle between the sheets, the fields will point into the same direction and therefore add up,
giving us the following expression for the fields:
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